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Lesson 2.8 — Triangle Congruence Postulates

Two triangles are congruent if they have corresponding sides that are congruent (have the same length) and
corresponding angles that are congruent (same degree measure). We don’t have to know all three sides and all
three angles, just 3 out of the 6 is enough.

There are 4 methods to prove triangle congruence.
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If given a given a right triangle (which has a right angle), then a hypotenuse and one leg is enough to justify
congruence.

1. Check which congruence postulate you would use to prove that the two triangles are congruent.

(@) (b)

(c) (d)

Why doesn’t SSA or AAA work as a triangle congruence postulate?



Given: C is midpoint of BE and AD.
Prove: AABC = ADEC

STATEMENTS REASONS
1. Cis midpoint of BE and AD. Given
2. BC=EC Definition of a midpoint
2, Definition of a midpoint
4.
5. AABC = ADEC
c
1. Given: BC = DA and AC bisects 2BCD.
Prove: AABC = ACDA
STATEMENTS REASONS
1. BC=DA Given
2. AC hisects 2BCD. Given
3. ¢z =7
4, AC=AC
5. AABC = ACDA
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1. Given: 2X = 2«H and XG || FH.
Prove: AXGF = AHFG
H
STATEMENTS REASONS
1. 2 X=¢H Given
2. XG | FH. Given
3. 2FGX = +GFH
4,
5. AXGF = AHFG




IV.  Given: LM = LO & MN = ON
Prove: ALMN = ALON 0
N
STATEMENTS REASONS
1. IM = LO 1. Given
2 MN= ON 2. Given
3. IN=IN <
4. ALMN = ALON =
A R
V. Given: QS || RTand 2R = «S .
Prove: AQST = ATRQ \
2
T
STATEMENTS REASONS
1. QS| RT 1. Given
3. 21 =22 3.
4. QT =QT 4
5.
5. AQST = ATRQ
VI. Given: GI = KI &HI = ]I
Prove: AGIH = AKIJ
STATEMENTS REASONS
1. GI =KI 1. Given
2. HI=]I 2. Given
3. 2GIH = ¢KIJ 3.
4. AGIH = AKIJ 4.



VIIl. Given: AC || BD, AB || CD
Prove: AADC = ADAB

C D

STATEMENTS REASONS
1. AC | BD, AB | CD 1. Given
2. 21=214,22=/3 2
3. AD=AD 3.
4. AADC = ADAB 4.

o _ H A =
VIIIl. Given: 21 = £K,and £IH] = £KJH
Prove: AHJK = AJHI /\/
K T

STATEMENTS REASONS
1. z21=z¢K 1. Given
2. ¢<IH] = +KJH 2.
3. HH=Hj 3.
4.  AHJK = AJHI 4.

L M
IX. Given: £MLN = <ONL, and £ZOLN = ¢«
Prove: ALNO = ANLM
0 N

STATEMENTS REASONS
1. ZzMLN = +0ONL 1. Given
2. ZOLN = ¢ 2. Given
3. 3. Reflexive Property

4. ALNO = ANLM 4.




